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QUESTION 1

Assume you are the Test Manager for a new software release of an e-commerce application. 

The server farm consists of six servers providing different capabilities. Each capability is provided through a set of web
services. 

The requirements specification document contains several SLAs (Service Level Agreements) like the following: 

SLA-001: 99.5 percent of all transactions shall have a response time less than five seconds under a load of up-to 5000
concurrent users 

The main objective is to assure that all the SLAs specified in the requirements specification document will be met before
system release. You decide to apply a risk-based testing strategy and an early risk analysis confirms that performance
is high risk. You can count on a well-written requirements specification and on a model of the system behavior under
various load levels produced by the system architect. 

Which of the following test activities would you expect to be the less important ones to achieve the test objectives in this
scenario? 

K4 3 credits 

A. Perform unit performance testing for each single web service 

B. Monitor the SLAs after the system has been released into the production environment 

C. Perform system performance testing, consisting of several performance testing sessions, to verify if all the SLAs
have been met 

D. Perform static performance testing by reviewing the architectural model of the system under various load levels 

Correct Answer: B 

 

QUESTION 2

Which of the following answers describes a factor that may reduce the effort spent when using distributed test teams
without negatively affecting system quality? 

K2 1 credit 

A. Difficulties in communication between the distributed test teams due to time zone differences 

B. With several distributed test teams, every team assumes that some test conditions are covered by other teams but
actually no one covers them 

C. With several distributed test teams, two or more teams assume some test conditions are covered by their team and
their team alone. But all of the teams actually cover them 

D. With several distributed test teams, all of the distributed test teams use a single unified test dashboard 

Correct Answer: D 

 

ATM VCE Dumps | ATM Exam Questions | ATM Braindumps                                2 / 4

https://www.pass2lead.com/atm.html
https://www.pass2lead.com/atm.html
https://www.pass2lead.com/atm.html


https://www.pass2lead.com/atm.html
2024 Latest pass2lead ATM PDF and VCE dumps Download

QUESTION 3

Which of the following would you expect to be most likely an example of a demotivating factor for testers? K2 1 credit 

A. The management asks the testers to be kept informed about the intensity, quality and results of testing 

B. The testers\\' recommendations to improve the system or its testability are adopted by the development team 

C. The same regressions tests are manually executed by the same testers, for every product release, without
regression test tools 

D. The testers are assessed on whether and how often they detect important and critical failures 

E. Test quality is measured by counting the number of customer/user reported problems. 

Correct Answer: CE 

 

QUESTION 4

Consider the following list of statements about audits and management reviews: 

I. Audits are usually more effective than management reviews at finding defects 

II. Audits and management reviews have the same main goals, the only difference is related to the roles and level of
formality 

III. A typical outcome of an audit includes observations and recommendations, corrective actions and a pass/fail
assessment 

IV. An audit is not the appropriate mechanism to use at the code review in order to detect defects prior to dynamic
testing 

Which of the following statements is true? 

K2 1 credit 

A. I. and III. are true; II. and IV. are false; 

B. II. and III are true; I. and IV. are false; 

C. III. and IV. are true; I and II are false; 

D. I, III and IV are true; II. is false; 

Correct Answer: C 

 

QUESTION 5

Assume that you are the Test Manager for a small insurance application development project. 

You have decided to adopt a risk-based testing strategy: 5 product risks (R1, R2, R3, R4, R5) have been identified and
their levels of risk have been assessed. 10 test cases (T1, ..., T10) have been designed to cover all the product risks. 
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The following table shows the risk level and the test cases associated to the identified product risks (higher risk level
means higher risk): 

You are not confident with the assessment of the risk level and you suspect that it will be possible to find high-priority
bugs in low-risk areas. 

Furthermore the period for test execution is very short. Your goal is to test all the product risks in a risk-

based way, while assuring that each product risk gets at least some amount of testing. 

Which of the following answers describes the best test execution schedule in this scenario? 

K3 2 credits 

A. T1, T2, T3, T4, T5, T6, T7, T8, T9, T10 

B. T1, T3, T5, T7, T9, T2, T4, T6, T8, T10 

C. T10, T9, T8, T7, T6, T5, T4, T3, T2, T1 

D. T10, T8, T6, T4, T2, T9, T7, T5, T3, T1 

Correct Answer: B 
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